EAGRAROBREERT — 2 N— ABISH —F 202013250 (£) 1E=ER8H

m#5%4ﬁi 1752 [EE] ©28 EEDE IR
[x&<£] 1 % :7,600,000 @ ~ 23 :3,000,000 3 3#:1,900,000  ~ 4 3 :1,100,000 § ~ 5 #& :760,000 M
& % B BB Mk ME BF (&) 24 L (&%) | @BIBfr | £3F |SIEH | AK | AE | R FIR) / BE / £EHS
o FEAA :10. - . . SEEE (ER)
il larvrs—nz [B) 5 = 1(1_0)7 1-1 36.2] 9.9 | 3 (5_344) BEELE (RR
ey AdyR B:FTIN—"7T b e
ol7|g| 77 I NAT # 5 | BHER AR 87 [35.8| 922 7 f; S 62
RIVIATA—h— B:YvAZ>JETR BRRUS
> 4 | RALGAF 1:11.4 5-5 36.4 | 90.1 | 2 470 | IIFHEE (RR)
3 7 AF—=TJXZ— g 56.0 (11/2) (0) (%3
R:xF21zgr—X B:XF—7e0q> IR
. PYN o4 | C. x—JL 1:11.5 2-2 36.8| 89.2 | 1 550 | 4XEANR (RR)
41719 JL—bNZ¥ > 56.0 (1/2) (+8) (\) *vAy rT7—L
RiGATxATv— B:T7zT7V—NZv > LA Eae]
. . A, TazaT 1. — . . A+RBE (ER)
5lgli| m1>EXRUF 5 NG 1(111)7 5-5 36.6| 87.2 | 6 zg)z (HF'H‘/
R:Z27)—>rk—A— B:RATYTI—Y— R RBIS
i 45 jt 5 | AIEBZ 1:11.7 10-10 [ 35.7| 87.4 | 10 | 450 |HESRE (E®)
6l8l10| 7T —FHAT 55.0 (7£) © |TEE=
LIANXRZATNYG B:vAE44F<41 b E3ubier)
> 7 6 | AHEEH 1:11.8 9-9 36.2| 8.3 | 9 476 | BIRIE (FER)
Ny 28Y g 57.0 (1/2) e |BliER
Z:va7x BYCF-IRvA 2 J=HrTp—L
o HARFH— : - BKAE
AT v—NnNY4sr—> [B] 4 56_05§ 1(.11/12.)9 7-7 36.7| 853 | 4 (4;0) ;ﬁﬁ? (E=R)
LA TxTv— B.vHA BRER 4%
. . N :13. B . . NEE (ER)
TS FA S 4 — 4 6 ég.o 1(173)1 11-11 37.0| 742 | 11 :1358) //a\*uj‘:f;
L4745 v — B:3voareX FrEF X T7— L
N 4 | RERAS 1:13.3 2-2 38.6| 74.1 | 8 488 | tE4AR= (BR)
=t~ X2 — o 5%.0 (1 1/4) *+2) .%HH@;’;
x>y /¥wx BT — J—YTr—L
. JI| A HE : - FNEFIE (EXR)
X4 amih— k o4 e 1.(12?3.6 2-2 38.9| 71.8| 5 ;1_763) At
Lix42avf—-5— B:TELI IR S =5 FiS
@ 21 L
£ 47.4-36.2
NA>ZA L | 12.3-11.0-11.2-12.0-11.9-12.3
® I—F—@EBIERL
13—=7—
2al=5"=
== 1(3,5,9)-(7,11)6,8-2-10,4
43—+ — 1(3,5,9) (7,11) (6,8) 2-10-4
[ RN
BB 1 5100 | | 74 K 1-8 1,530 | | # = 1-7 920/ | | 3EfE 1-7-8 4,570M
B B 1 190M9 1-7 340M B = 1-8 6,400 EH 1-8-7 33,390
8 480M 7-8 1,200H B H 1-8 10,140M
7 170

ABRICOVTHRTEEERROODE, THEB LS,



